|2 R& L
5%
% #l A _H » #

M 16+56XHd=61 @ 7+21=-=10 ® 154+ +4=23 @ []+3—3=1

® [OX3+3=24 © 11-0+8=8 m 12+6+0=15 ® O+5+4=10

@ 8X[J+3=51 041 -[IXb=1 an3X[]1—-4=8 (12 12—=30+-01=7

(1 [ ]—8=2=4 H 28=[1—1=3 05 []—9X8=2 1) 42 =7—[1]1=2

AN 15+ X6=69 08 [JX3—-8=7 19 ITX84+ =72 o 7X4—-[]=14

ey J+63+7=13 @ 15+-[0+8=13 @ [J+8X8=68 @ 16—-7X[]=2



[z Rd L (BRE)

5%
wE Z A H S )
M 16+56XHd=61 @ 7+21=-J=10 ® 154+ +4=23 @ []+3—3=1
5X[1=61—16=45 21+[0=10-7=3 [0+4=23—-15=8 [0+3=1+3=4
[0=45+5 J=21+3 [0=8x%4 [J=4X3
=9 =7 [1=32 O=12
® [IX3+3=24 ©® 11—=011+-8=8 M 12=6+01]=15 ® [1+5+4=10
[0X3=24—3=2] [J+8=11-8=3 2+00=15 [(0+5=10—4=6
0=21+3 [J=3x8 [J=15-2 [J=6X%X5
[1=7 [1=24 [1=13 [1=30
@ 8X []+3=51 10 41 —=[]1Xb=1 an 3X[]1—4=8 a0 12-=30+-01=7
8x [1=51—-3=48 [OX5=41—1=40 3X[=8+4=12 30+0=12—-7=5
[0=48+8 [(1=40+5 0=12+3 [1=30+5
[(1=6 [1=8 [1=4 [1=6
(1 [ ]—8=2=4 (4 28=[]1—1=3 ®»[]—9x8=2 (16) 42 =7 —[11=2
0—-4=4 28+ [1=3+1=4 0-72=2 6—=2
=4+4 [(0=28+4 O=2+72 0=6-2
[1=8 [1=7 (1=74 [1=4
AN 15+ X6=69 08 [JX3—-8=7 a9 IX8+[L1=72 o 7TX4—=011=14
[OX6=69—15=54 Ox3=7+8=15 56+ 1="72 28— [1=14
[J=54+6 0=15+3 [0=72—-56 [=28—14
[1=9 [1=5 [1=16 [(1=14
en [J4+63+-7=13 @ 15+-[]+8=13 @ []4+8X8=68 @ 16—T7X[]1=2
[0+9=13 15+[1=13-8=5 []+64=68 IXO=16—2=14
[1=13-9 [0=15+5 [1=68—064 =14+7

=4 =3 =4 =2



